FhE
8 EENIMRSREH

A, fiod) arcco{—i} (2) —£; (3) (-72,-147,-12); (4) —100;

105 V10
1 2 lpod
(5) s, — %D( —,—,——j; (6) 31-2u=0.
(J” V6’ er J6' V' V6
2. ¥R HBEEANHIAM.
3. W&,
4. .
5. HerR:
i G 1 1 0 0 1 11 1
S=Z||CAxCB|=x=|* * * Ml=tZla-c, b-c ¢l=t=|a b
2 2la,-¢c, b,-c, 2 2
a,=¢, b,-c; ¢, a, b,
%\/15620
7 o
2
® FHEMELZ

1. (1) 11x+46y+14z—-46=0; (2) 3x+z=0; (3) y=-5

(4) 9y-z-2=0; (5) x+y-3z+4=0.

5, o 147%)/s
- - X+3=0, = =
. fict fils T B Lol Fig o o € B o Ysa? i,
A 7» d z-1=0; 3 27, 4
4. (D) x+5:y—5:z—11: (2) ézy_—lzz__:go
=2 3 5 3 4 o/
5. (1) 13x—4y+14z+7=0; (2) 5x+2y+z-9=0; (3) x+y+2z+2=0.
X+1 z-4
G s e e

16z, 18, "z28°¢



7. 2X+2y—-2z2-1=0,

g X+y+2z=0,
| Jfi\ay legex Vg,

426
o

11146
146

9.

10.
11.

&2 fpgay = 4

13. /6.
14. 1

15. (1) arccosg; (2) 0; (3) 0.

16. TEFH.
17. $oR: ek Pk &l B n= (A, B, C)x(A,, B,,C,), M F [
jj?ﬂjfjjn'(x_xo’y_yo’z_zo)zo’ Al

X=Xo Y=Yy Z-1,

A B, E, /= Qs

A, B, C,

18. #7n: ik A SE 5l xcosa + ycos B+zcosy — p EEH I EHL, HSHUTH

X=a+tcosc,
Jiy=b+tcos B, ‘BE VMBI XN TS5
Z=Cc+1tcosy.

t=p—(acosa+acosf+acosy)=—0-

T2 AN TSt =-25, HAKA (@-25cosa, b—25cos B, a—25¢0sy)

8 HiE. mZeF R



L. /%P
X2+y2 ZZ
2. a2_C2 +?:1o
3. 3x°+3y*+32° +4x+6y+82-29=0.
4. r72 B IXEL VI
Be. [ VM=ot
2 2 2 2 2 2
6. Zixil: — ¥ T2 1, gy 22 Y g,
56 X 5 9 4 JDY§ 9
7. (4,_3,2)0
8. 2y—-2z-1=0,
17 1 1
O Jihe~lprn Yt Gt Ml 4
4y 2y 4
10. BRI TE:
(D (2) (3) (4) (5) (6)
P | AAHESZ | g i R Hh 2 = PR R
o L1 AN o T 77 < 7 1T R AP '4 1 T B PR 2% L4k
11. (1) HhA
\
2.8 I —
2.3
z1.8- ““‘“%——_‘__‘_____ﬂ
= -1.0

1.3 05
0.0
0.8 ®
0.5
10 g 10

0o
05 g




(2) WHEAEIRLL

(3) [AIHERRZ

(4)

12. (1) MEEkM; (2) MEEPER; (3) BArFXUihm; (4) WXt EIng .
T3/ 2C1) u2—2v2+4w2=%, BT X (2) —2u2+3v2+6w2=—%, XL H-

ST (3) —2u® + (L +3W2 + (A—3)W? =1, XUH X .



